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220.90
E 12.10 42.70 131. 80 1594. 78
9768. 62
£it 53. 60 9768.62 / 1.25 = 7814.90

.

RIEMEE LT =3.10

+3. 38

GH= 727. 42
FH=730. 80
D= 0.00

REE=30.0

16. 00

D-2
+6. 50

GH=
Fh=
D=

739.30

745.8
8.50

0

Bt=220.9

FRIEREE + =5.60

D

+8. 58
GH= 737. 22
FH= 745. 80
D=

8.90

RE+= 305.9

RIEHE L =8.0

(H4)

wwe |[pramume meeTr| sxe | LT PRLSRAE
RS | AHaBE maEs | womn| seaE |20 o
& | em 7 & BT | Z8R

£ M| WEEE GRHERES) 1 Es 1 &

WIH | B8R G WEE Bl

wm R 1200 HEES 20

P wata

] = A~E




B

AR

ANAE LT VS

528D, P 3%

wNAE

ELTZIN

—=>
‘ L2 (H#E) |
| Ll (£E) |
- St & ()
RS Wi W2 W3 H h K] 2 P
240 x 300 240 300 650 300 25 2,180 2,040 50
300 x 375 300 380 750 375 30 2, 200 2,040 80
200 x 500 400 430 900 500 30 2. 200 2, 040 80
500 x 500 500 600 1,100 500 50 2, 300 2, 000 125
500 x 600 500 700 7,200 500 50 7, 300 7, 000 25
700 x 700 700 830 1,400 700 60 2, 300 2, 000 125
300 x 800 800 930 1,500 800 60 2, 300 2, 000 125
1,000 x 1,000 | 1,000 1,150 1,900 1,000 70 2,300 2,000 125
Im7=y  ||NO. 17KE&T|NO. 27KE& T [NO. 37K B& T | NO. 47K & T | No &t R7IS
ARUFE 1.00 m 5.40 7.40 11.10 11.70 60.50 m 24.90 m
ALK (L=2. Om) 2.00 K 10. 80 14.80 22.20 24.00 121. 604 | 49. 80K
#a>o)—+bk | 0.06 m3 0.32 0.44 0.67 0.72 3.64 m3 1.49 m3
LR 0.20 m2 1.08 1.48 2.14 2.22 11.90 m2| 4.98 m2
1.40
20 1.00 2 1&57=Y
= avyy—*t
2 AB 1.40x1.10x0.20x2 = 0.62
— 8 0.50x0.55%x0.20 = -0.06
A Yo 8 0.50x0.55%x0.20 = -0.06
= €D 1.00x1.10x0.20x2 = 0.4
S
Tk E 1.00x1.00x0.10 __=_ 010
1.60 3= 1.04m3
110 Q.2 020, 1.00
o o lo.10 )
o T aTaTaTaar:
9 g ’ < X S5 1.40x1.10x4 = 6.16
s+ . ’ WA 1.00x1.10x4 = 4.40
2 8 ¢ 2/ d Eroo | H 3< D 3/ $2B% 0.50%0.55%2 = -0.55
| o | . S 1 |- <= #EB% 0.50x0.55x2 = -0.55
< 1 « — » _
s . » 3 = 9.46 m2
o
S = Pl e =5
1.00
0107 1.60 E
00 1.40 0 g 1.60x1.60 = 256 m2
o
B = is
5
=
S R7HEIS
020 10.50] .20 avyly—+k 1.04 x 2% 2. 08m3
0.25 2
140 p 9.46 x 2% 18. 92m2
BER 2.56 x 2% 5. 12m2
HEEEE 2.56 x 2% 5. 12m2)

A KXH T
BIEE (EE-L )
$=1/100

0079

A (K2 Om #EAFEO10cmEAE)
0. 4m #RAFRO10cmiAE 20

$=1/50

10. 00

RIEEHBE
$=1/20

0.10

0.5010.50

(Z40)
Bge |[HPemume esTk| sxe |"Lph Wape o RARE
HERS | m#ERE maEs | wma | seaE |20 o
& | em 7 & BT | 88
£ M| WEEE RHEES PR 1 &
wTH | zem e B
% R| m= DEES 21
p— wata

#ooR




BSR4 TILIRATRILF 1 F 4 85731

No. 15+15. 8 (EC. 9)

REE REE REE REE REE

| % mesr=goussBuswFssns- | | 2 ssr=mousmBusessnse- | | % ssr=grussmuseFsnses | | 2 ssr=mousmBuressasi- | B EBRSgHUENRLFEEsRs4- |
i (S @it w5 | m2 & mit w5 | En (S @it ws | ED (S @it
E i 117
118
119
120
121
122
123
124
125
126
127
96 208 2.4 24. 96| 128
97 20. 8 5.9) 61. 36| 129 71 3.8 13. 499
98 9.9| 4.3 21.29] 130 20.3) 4.7) 41. 71|
99 9.9| 4.2 20.79) 131 16.2] 7.4) 59. 94§
R =0 LA RILSF 5 2 52574-3 100 12.9) 8.4 54. 1g] 132 9.9 5. 21.7)
101 12.9] 2.3 14. 84f 133 10. 2] 8.3 42.3
102 9.8 3.0f 14.70] 134 15.0) 8.3 62. 25§
103 12.8] 11 7.04) 135 12.4] 5.9 36. 5
104 9.2 1.2 5.52) 136 6. 5§ 2.3 7.4
105 13.8] 3.3 22.77) 137 10.1 5.7) 28.79
106 6.2 3.1 9.61 138 15.8] 7.8 61. 624
107 8. 9| 3.4 15.13] 139 12.2] 2.8 17.0¢
108 16.7) 2.9 24.22] 140 5.2 4.0) 10. 4
109 8. 9| 0.9 4.01 141 4. 6| 1.9 4.37)
10 5.0] 0.9 2.25) 142 17.4) 4.0) 348
m 5.0] 1.0] 2.50] 143 174 5.2 45. 24
12 18.4] 1.1 10.12f 144 7.4 4.1 15.17)
13 18. 4] 5.3 48. 76| 145 7.4 4.2 15. 541
114 8.3 2.4 9. 96) 146 231 5.7) 65. 84§
115 10. 5] 4.9| 25.73] 147 231 5. 6} 64. 6
116 10. 5] 1.4) 7.3 148 8.9| 1.2 5.34
&t 525. 04f 149 8. 9| 6. 6} 29.37§
EHR =TT RILFH#F 4 0582-1 BEE . FEEW 150 12.7) 4.9 27.3]
EHRS IS RILFHERR574-1 BH : FRW 11 127 59 .59
At 1092. 51|
SREH
| & ssr=goussBuseFsnsi- |
SREE
165 61 27 824 $hE  ERR DA RILFEF A R573-1
166 8.6) 4.4 18.92| e B = i
167 16.2) 3.1 25.11 193 . 4] 16 . 72]
168 12.5) 4.3 26. 88 194 2.7 1.3 1. 76}
169 9.9 3.6} 17.87) e 8. 40]
170 9.9) 3.5| 17.33]
1m 3.9 1.9 3N
172 121 1.7] 10.29]
173 15.0) 4.2 31.50}
174 5.6 1.4 3.92]
175 4.9| 1.7] 4.17)
176 6.0f 3.4 10.20]
171 15.8] 5.5| 43. 45
178 14. 6] 1.0) 7.30)
, EBR T LRETEILS 5 18682-4 = T -
13017 @ ‘5 6 T 6.1 5.9 .08 *E% &it 4,743.19m2
1 0.7 182 16.1 4.3] 34.62)
Lo 183 10.1 3.7 18.69)
184 10.1 6.9 34. 85
No. 0, ﬁ%@:ﬂﬁﬂuﬁmimﬁ s g _ - 185 15.8] 7.0 55. 30}
"= FH 43825823 1% 719 70 7 59
187 11.6] 1.2 41.76f
188 8.6 13 B NEL))
189 7.9) 6.1 24.10) = Fa
= A A 20 w4 s [prepune mesTe| ® 2 g | LT GHTRERIARIRE
191 17.5 7.4 6475 FERS | FHFAEEE BARS | 24 | BRAHERE |2 Okm/h
192 16.2] 2.2 17.82
pen o OB | SR 7HE WITER | EER
& H | XEERE 1 B 1 &
R 7 {&iFXME #FEhH{T 2836 38m2 W4T | mEW SHE e Rl
No. 0~No. 10 R | 1500 HEES 22
EEE ®EE
A A | No.O ~ No.15+15.8(EC.9)




